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1. Let F be the vector field
F = (2z — y,2z2°,sin z)
Let S be the portion of the cone z = 1 — 1/z? + y? above the z = 0 plane; with outward

pointing normal field n.
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Find the value of the integral
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2. Let C be a closed curve in R3. What should be the relationship between a and b so that
we know {for sure) that

/ ¥ da + aye®dy + sin(2)dz = 0
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3. Let F = (2z 3%&? Let C be the triangle whose vertices are (1,0,0), (0,0, 1) and (0,1,0)
traversed in that order. Find [, F - dr
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4. Let § be the surface given by z? + 3% + 2% = 9 and z > 0. Let F = (2, 3y,@#and n the
outward pointing normal vector field. Find [ [(F-n
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final answer: 108pi + 9pi = 117pi


